1. (FI9 7Y IS ‘Pre-gang’ B =1 F?
[A] 0-2 =7
[B] 2-6 9=
[C] 6-11 T=F
[D] 12-15 q=F
©3 [C] 6-11 I=F

2. CIRARSICHR @IF TNTSIE ‘Overlapping’ (3 TR?
A] 11- 16 =T

B] 9- 11 =4

C] 7- 9 3=F

D] 2- 8 I=A

©3 [A] 11- 16 I=F

[
[
[
[



3. (P [RECE M7 A Infancy I 7
[A] ATF-S (AT 2 I=A
[B] "1" "1" /"2" (ACF 2 9=F
[C] 6 ST (T "1 "1" /2" d=d
[D] & (AF 2 =T
©3 [D] & (AT 2 I=F

4. 9 3 RAET IASHE BEF PRI F©7
[A] 1- 3 9=F
[B] 3- 5 =1
[C] 2- 5 q=F
[D] 1- 4 I=F
©3 [C] 2- 5 I=F



5. TR IETIIETE IPH $9?
[A] 5- 11 q=F
[B] 11- 15 =1
[C] 2- 5 q=F
[D] 0- 2 q=A
T3 [A] 5- 11 q=A

6. &N RPN CFl@ eleITT VR O FAf67?
[A] 2
B] 3
[c]afs
[D] 5 o
©s B] 31



7. T EYIWTF TR IV 397
[A] 60- 80 9=
[B] 80- 90 I=T
[C] 40- 60 =T
[D] 19- 40 I=A
©3 [C] 40- 60 I=F

8. fom ==1-
[A] ST afe
[B] wersTe afemi
[c] snfers effem
[D] cidiors aife
©3 [A] Sfere afe



9. 3@ e Rz My iy Foreis 17 @2
[A] 3f& == tafess, et 21 e o
[B] 3% == tvfess, et == siiegfes e
[c] 3= == sTwiferss, faam 2=t tafow fRam
[D] 37 =1 tof<s, fert =1 efewifess faaw
©3 [A] I 21 tarf<s, faem ze oM fmw

10.  ICDS -&% == 7% F?
[A] Introducing Child Development Skill
[B] International Child Development Service
[C] Interrelated Child Development Society
[D] Integrated Child Development Service
®3 [D] Integrated Child Development Service



11. Rom == fEe taiks, Tie, Awifes, awfes Tom sime )

[A] G

[B] o1

[c] afe
[D] &«

©s [] fafen

12. o7 @G IR ez wox 752
[A] @& I
[B] S Wl
[C] *IIAfas AT
[D] @It &
g [A] 9o Jfa



13. 3w 3 @ RFEER xR S?
[A] faere “feq
[B] elors wAfaree
[C] sifer sifeen
[D] @GR 73
T3 [A] “ffFsteire sfqaes

14. @9 [ Prew @ were 3 3 ks R 29 93 we w6?
[A] 499 2 92T
[B] 1- 5 I=d
[C] 1- 7 I=F
[D] 1- 10 =
T3 [A] 29 2 9=



15. e i et <=1
[A] O @ TSR “Afgqey
[B] @igfes “feaeq w3z e Tafs
[C] e&tR faaeq
[D] «FeNF #Afee
Bg [B] WIFfoq ~fiaeq @R FI&R Tyfe



